Shark Island

On one of their many adventures together, the three infamous pirates Popof, Totor and Bebert learn about the existence of a treasure worth one million Euro’s in gold and silver, hidden on Shark Island. The three pirates are apt negotiators and in a corner of the tavern they talk about dividing the treasure later on. One essential point in the discussion is that Popf and Totor both own a boat, but Bebert does NOT. But, taking into acount the very dangerous weather circumstances in the direct vicinity of the island, there need to AT LEAST be two people on the boat. Furthermore it is VERY doubtful that Totor’s boat, which is actually a wreck, could make the trip. At most it would take only HALF of the treasure back home!

What is the agreement the three will have?

NB:
All three want to carefully maintain the current bonds between them, in view of possible future adventures!

